£210 BBBEMXIZ/N\RT v EM—ILBEZFRIL)-TKRA

HHATFE

LFXTER

H & = B ™ G P IESR]
<298=1% >
SH4F4H298 (%) 308(1) 581810 |A-BI—F Mgy 1-J3—F  FRERN g1ms 830 930
XA 1 2BRIBIE O+PI—F &N K-L3=k {HFEh =2 '
E-FI—k RN M-NI—k @i 1 . ~
2% X .
7:50 BEEI-F1VT G-HI—Fk @i ‘R* haps 940 1040
8:00 H—HEHERE < 30B=5H > 5 e as ~
33 . X
8:30 MBS C-DO-F &&l Qo—F  Bh | y[FHe 1090 1190
G-HI—F @l F%& R-s2-F DI Z3-F XN 1 =45 1200 = 1300
oo o A
HEeEE 6—1-6-5-6-1-6 (10) < S/1=tE > )Il,
QI—F B/ T-UD—F X2 #5535 1310 ~ 1410
o=t N e - . — éjé”\ H OO . .
xESOTONEHT BiEsnenamuys|R - S2—F
1 mE L 4 R o e — 5. #2 . 8 M [—= =
106" 03 51 % 4/29 EE 1100 6 T S 16 g3 06 ) ;% 4/29 OIS T Ry
100 - 43 R Pl T 30 h 7 B imes L el
5/1 PERE R TS TS TR 5/1 ORI TS TR
{ T1 Y O33—~ T2 E30—k
o @E  |T | ® VPO [mErioel iR o EE F s A0 e T T
Ut é e P33— A u2 A ; ram F3J—
bt B e T o MRS [ e
16 _ 26 5/1 T13J—k~ 65 _ 57 5/1 T23—k
63 _P3 12 z BRETTTTTTTHRER 44 " F3 38 z SEETTTTTTTTRE
P i ) ¢ e UT5<F ; ¥ P U2k
2 :sz 3 %Biﬂ REE %m HI fua 6 J:ﬁlaﬁ 7 mjb Rest J:IEIE? v *-/A%
O BE | 12 PRR = = 130 885 | 6 miy O —
307 us AT % 4/29 G 707 6305 % 4/29 BN TAsTTTETY
37 47 39 56 o - J23—k 43 65" 41 60 ¥ e H13J—F
w0 J FRELE o 4 a0 Has Dﬁ$1560§ﬂ@
Y c2 ( J32J—F f 22 Y G3J1—-k
Ut 208 P s M rmmrioTvaem >55 S e SN T i)
D2 ¥ exmasm J4 -8 H ¥ pnim LSl M
3 4/30 \14 - Hieoi: 27 @ 65 4/30 19 =N )
° 0 Ui 27 22 g 4/30 é@gg :]_1'; """ bl : A " 5 s L] §52 3_1'; e
3 Dzj - JR 7N 3 — igapdl] H1j |\:
N, 3B & ot - 3 n L1 / -~
1o =W R SEEE s Ty v 14 8 15 R BRB [TTEE T AT
17 B 20 WiF | O N 21] B | 24l R —DOE ST
e 4/30 b Q1 g A/29 bbb
Q1 f 27 i 301 i 29 iEEL 74 N3 26 T VI i 99 i-i 361 JRUE
S0 48 ¥ e | Q23— k SN 28 /119 ¥ amas sz,_ B e
J lE :53: :43: Hivd 4/30 BT TS T e R
( Q3 Q1J—k Y G1 N32— I
N oEm | |E Y7 mwTYUUREE| M = | |z YO mE s TEE
Q4 A B o Q23— | Z1 A B s N4J—~
= Bt i BB 28 4/30 32 TR RIE T 31T S 61 S
29 o3 5/1 RS (C = R na %6 < . 4/30 G12-k
> % e i 31 N4 61 T _m=8 [miioc: i32: =
= B g Q43— N e P | ® 4/30 VA = i
18 BRI 19! 0B RS lmEmrTTURE| (220 FUB L1280 B | T wnes [RIBTETTRSTER
25! WE | 28wl [ P BLE -
S5 K3 40 f 4/29 BRET64 T 38 TR HE 34 1T 9 ViR
64 [\ 42 29 /] 37 B emam L1D2—Fk 19 4/29 B2d—F~
40 =B s T T e | 20 T-T0 T AR
{ Q3 K3J— SO iR =B B33J— K
“ 268 - 5 29 e TG | HET 20T 0 AR
Q4 A s e L30—~ R1J—K
a pyas - RS *$;§53 ...... 28{'2]3@ o WFEﬁ SRS TR SR
38 ~ 42 4/30 Q33— S1J-—k
53 13 28 f TSR0 21 4/30| g Az TS TSR
Z e Q4J—k S | R3J—h
126 AR L1270 {PE R e T S TR =5 RS T TR
) S2J—~ S33—~
| S| S [BHETTITTTESE R TTI SeTESE
o8 S3I-F STJ-—F
O = gy rragg] | O 97 [esarb e e




